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Now answer the following

pswer IS filaments, which s ¥

The correct d?
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vou shade the answer Spac

h work on this question paper:

questions.

n vary their body temperature in

Animals that ca
nvironments arc

response to changes In their ¢
A. poikilothcrmic.

B. homoiothermic.

C. diploblastic.

D. triploblastic.

of the

The diagram below is an illustration
t 1o

mammal by a student. Use i

drawing of a
answer question 2.

A. posterior.
B. ventral.
C. anterior.
D. lateral.

e

Proca

3:
A. Animalia.

any mnswcr(s) you wish to ¢l

ryotes belong 10 the Kingdom

B. Protista.
C. Fungi.
D. Monera.

an lustratio

The diagram below s
a Class inthe Division

a member of
d answer questions 4 tc

Study it an

Ry

4. The organism illustrated be

A. Muscl.
B. Pteridopsida.
C. Hepaticae.

D. Dicotyledoncac.
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Ihe part labelled 1 is the
AL
B.
C.
D.

sporophyte

apical notch. I:;

rhizoid.

gemma cup s

The main function of the part labelled I is &

;’\. for asexual reproduction.

3. pro<.|uct|on of multicellular reproductive
bodies.

C. forabsorption of light during photosynthesis.

D. toreduce transpiration from its body tissucs.

During photosynthesis in green plants, the

formation of ATP occurs in the
A. epidermis.

B. xylem.

C. bark.

D. chloroplast.

The information below is on the stages of
conjugation in Spirogyra. Use it to answer
questions 8 to 10.

Conjugation tube is formed

I
Protuberances from each cell go to

II
meet each other

Two filaments lie side by side
The male gamete passes through the

conjugation tube into the opposite
cell to form a zygote

111
1%

The correct sequence of conjugation in

Spirogyra is
A, I->II—=IIT—1V.

B. I-»>MNI—IV—-L
C. M —-I—-I—-1V.

D. IV — 11— 1 — 1L

N

The biological importance of 11 is that it

A. is where the zygote is formed.
B. is where the male gamete is formed.

C. protects the gamete.
D. forms the conjugation tube.
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Clonjugation also takes place n

Amoeba
Praramer ium
virus,

yeast,

o ¥
Which of the following verebrac has
vertebrarterial canal?
A. Atlas
B. Thoracic
C. Lumbar
D. Sacrum

The diagram below 15 an Mustration of the
transport system in an animal. Study it an

answer questions 12 and 13

dorsal ¥

Y

12. The type of transport system 1llust
A. closed circulatory system.

B. lymphatic system.
C. open circulatory system.

D. respiratory system.

13. The Class of animals that ext
illustrated transport system !

A. Amphibia.
B. Aves.
C. Insecta.

D. Reptilia.

14. The function of leucoc
A. facilitate blood ck

B. .engulf bacteria.
C. destroy lymph it
D. transport OXYge
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i {n the diagram " :
o ) contains ‘
. A nephron A. witer :

t J
' oyl 3. explosive {
( nephridium ¢ i .‘
L2 ! ( wing
’ glomerulus +
0. snimal q
— 17. In hot weather, urine becomes ‘
e 31. In water eulture experiments, th '
1wre concentrated and lighter in colour e i
i ’ covered with Black paper 1o
y more concentrated and darker in colour )
‘ : / A. air from reaching the plamt
ess concentrated and lighter in colour.
- B. the lower part of the stems fron
ess concentrated and darker in colour.
pholosymlncunng

C. decomposition of the macro-ele

I8. Ad SVer
A drunk driver could not drive in a straight
manner because the alcohol affects the nervous D. algal growlh in the solution

systemn by
\. making the driver over alert and hyperactive 22. The oxygen relecased duning photosy
obtained from the

1110

B srferine ’ b

interfering with the action of the digestive
systemn to produce more glucose. A. ionization of water.
B. excess oxygen taken into the plan

( YWOVIny .~ .
. tmproving the communication between the
C. breakdown of carbon (1) oxide

brain and other neurones.

D). causing blurry vision and reducing alertness. D. breakdown of glucose,

‘ i below' ” ; 23. ‘The seedlings in a rice field were found 1,
. agram ¢ v 1s an illustration of a fruit. At 2 Wi

Use it to answer questions 19 and 20. reddish leaves with poor root developrie,

This is because the soil lacks

A. sulphur.

B. phosphorus.
C. potassium.
D. iron.

24. Excess sugar is stored in mammals o
A. glycogen. |
B. galactose.

C. starch.

D. sucrose.
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5. he process by wihich foars oy
; ats are

A Wrcitee
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A doamination 15 known ay

28.
Rhizopux s o saprophyte bhoaanse W
B asimiintion A digesis food extracelinianly
B feads on\
. Wing organ
¢ emulsification & rows on 1r s
1 » ccs
. absorption {5

manufactures s food
A solution of stare
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29, Which of the followin 8
: @ stalements ¥ Tikely W
dialysis bag and suspended in a beaker of
in diagram I Diagram 11 is o g 'N: ’n hw;ucl
y of the

be an effect of the elimination of decomposeTs

from an ecosysteny?
pesults from the expeciment. Sty them and
4 e

A. Concentration of carbhon
aNSWEr questions 26 and 27

(IV) oxide w W
morense
B. Food webs would be more complicated
C. Refuse will accumulate avertime
—W e . Soil nutrients will increase
""" Oiolysis bag
Starch -4 glucosa 30.

1 which of the following, agquatic habitats
would there be the least salimity?

A. Freshwater

B. Estuarines
Y C. Swamps
R D. Marine

Study the food chains below and use them to
it ok answer guestions 31 and 32.
<6 3 e orareh
Glucose

Which of the following summaries best =
1t

maize — man —* grass — \ion

grass — grasshopper — Yizard — hawk
1M grass — zebra — ™

onkey — hon
1V: detritus = lion — antelope — Lrass

describes the amount of water, starch

and glucose in the dialysis bag, over the
course of the experiment?

31. Which of the food chains are ot corvect’
| Water Starch Glucose A. Tland 1ilonly
A. Increases  Decreases Unchanged B M and TV only
B. Decreases Unchanged Increases ¢. 1.1 and 1V only
el Unchanged Increases Decreases D, 1 and 1V only
D. Increascs Unchanged Decreases

3
2 The aim of the experiment is to investigate
3 how

A, transpiration occurs in plants.
v ;
B molecular $12¢s

32. Which of the followng sxmcmcms' about
food chain \abelled 1V is correct” The
A, grassis the saprophyle

affect movement through B, detritus is the producer

pcrmeablc membrancs

C. lhionis correctly placed
scmi-pcrmcablc membrancs arc functional.

D. arrows arc wronghy placed
watcr dissolves solutes.

Nsc‘tidlfusc/c ¢



31, [ on ecosystem, bavteria e fungt A¥

; ided v

| \ producerns
B scavengers
{ predators
). decomposers

i [ircathing roots an
an adaptation [or desert life
£} an ml.qu.m.-n for swamps
¢ foumd in all aguatic plants
{ D. found in epiphytes

(e diggram below is an illustration ol an

studies, Sty

instrument used for ccologicnl

i and answer questions 35 and 30
-
o
;/ //
7

e Metal rimM

__Mosquito netting

:yi-."'
35 The instrument is used to catch

A, earthworms and ants.
B, caterpillars and frogs.
¢ grasshoppers and butterflies.

D. carthworms and butterflics.

36. [fthe length of the collecting net is h ¢,

what would be the implication to its function?
A. The organisms caught would escape casily
. Swinging the instrument would be difficult
¢ The instrument would trap the intended
organism
D. It will make the handle inefficient
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D. forestry

js the likely offect of the action «

What
i ’
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AR will jeud 1o @ reduced cffcct «
warming

3. There will be growth of new
organisms

c. ‘There will be increased accumul

, oxygen gas
p. The ared might be prone 1o flooding

which of the following natural reso
formed from the remains of dead anima
A, Coal

B, Firewood
C. lronore

D. Fossil fuel

Which of the following statements abo

human blood groups is not correct”
A O1s recessive

B. A is dominant over B

C. B isdominant over 0

D. Aand B are codominant

L
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42.

43.

46.

The types of T
. e g
7 e d““"‘”t:l |‘||l pattermns in humans are
3. compound, | bl \ 7 |
' 5 horl  loop, whorl and alt e 2 ‘\HL \‘ \ g e
- con : Seome would Hkely belong 1o
il, arch, compound and | sl ) i
1. orch, simple, comp {“ it 5 o.
; oun i
d and opposite. Sy
o I
DB

I\" examp ) mMys aric
- I le ol | hysiological variation 1
210 nis

A. blood group.
B. hCi}.‘,l]\ of pl'““
C~ skin colour
D. body size 48. The evidence of evolution that paleos
The sex of humans is determined t \’1\‘-0\\4 (m,“
inheritance of Koyithe A fossils.
. ~ B vest nal Orgs
A. api gial OTZAns.
£ 1'p iir of homologous chromosomes. ( embryology
B. X and Y chromosomes. e y T:' |
C. an extra chromosome in males. i PochERre
D. a dominant gene.
49. Which of the following evoluionary wenes ¥

Genes are found in the plants is correct?
A. centriole. A, Fems — algae — MOSSES — cced plants
B. centrosome. -
C. chiasma B. Fems— mosses — a\gae — seed planis
D. chromosome: C. Algae — MOSSES _, Sesns —» sced pian

D. Mosses = algac — ferns — sed phas
A man W ith blood group A marries 2 woman
with blood group B and they have two children. | 50. Which of the following processes ProY
The first C.hllt'l is blood group O while the material for ev olution?
second child s blood group AB. Use the : .
3 : : d4 A. Germline mutation
information to answer questions 46 and 47.

5 B. Territoriality
Which of the following statements 1S not C. Nuptial flight
correct? The D. Use and disuse of organs
A, two children belong to the man if both
parents ars heterozy gous.
(3, man can pever have & child that has END OF PA PER
blood group 0.
c. second child only belongs to the man if
both parents are homozygous:
p. first child does not belong t0 the man if the

118 homozygous-




